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(A )22.Choose a number from 1 to 9, times (3f€)the number by 3 and plus 3. After that we
times the result by 3 again and gives you another number. What 1s the sum of the
digit in tens place(-F{i7#) and the digit in ones place({E{7E)?
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(B )23.Right graph is made by 8 identical (f8[E]AY)squares, what is ZABC ?
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(A )24. There are nine cards are labelled (Z=E)from 1-9. Joe, Bill, and Cathy take three
cards each.

Joe said:  “The product of my cards is 48.”
Bill said: “The sum of my cards is 15.”
Cathy said “All my cards are odd numbers(Z7#%), the difference(Z£) between the
largest number and the smallest number arranged by three cards in different order is
792.” Which is correct?
(A)Joe has the cards with 2,3,8 labelled. (B)Joe has the cards with 2,4,6 labelled.
(O)Bill has the cards with 3,5,7 labelled. (D)Bill has the cards with 3,4,8 labelled.
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three straight line inside a square, the length of three straight line 1s 5,6 and 9. Find
the shaded area. (A)45 (B)50 (C)55 (D)60
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